EPs 5: Qx|
-ay -
4 5= ]

+5 t5_ )/-,7

X =

M2
&) i'&x+’3y=3 2 ~Hx-6r:76

y? 204)- |

Yx+Ry=122 Yx +2y= 12

-Hy= -4

Y:I






@ Pff{«‘k'l to |2x+2y=8
~12 ¥ ~l2x

("I,Q) ;?—zz_‘l_z—x.,__g

Y- 26 (x=¥V) = S =
y-a=-6x-6 Y"Z)“-LI
+ 2 m=-6

y = -bx-
+6 + b X
6X+y=‘




gx -3y="sg '6* —'5,.-7‘

@ g 5x-27=:2.-1—:’ ~15x 46y = -6
_qys-‘]

2 A )]

@ peealic! o y-@(-s (3.4

e P-ull"
Slope
-y, = (x-x) 'S
Yy T‘ 2
y=4 = 3(x-3)

4= -9
4 -:-‘.\\ gx-rq

7)/ -~ 2x-5

@_L to SX,-'-ly-'-'z (62)
-5 =5

- =-_5_X'|'3
=L WA

,*.'?_,'X"l-z
-3
Lm="73

Y_yl.'-m(x'X|)
=4

y- 7= =(x-0)

5Ly~ -4 +2]

Sy -35‘*""* tay

+35 TS

g y -.-l-lx+‘51
44 ¥ 449%

Hx+5y= 59




@ y:@f Y ("l,l)
m=-"2

A e

y-1=5(y-4)

|
)T B X=2
y.u' = 1

y dn)

@ From the 40 shirts I have, I must pick

5 to plan out my week of teaching.
How many different looks would
I have next week?

o'd"- do"ﬁ.t Mkt*”

HD r\Cf S = ésq/oos

, e + a 2 =<
@ f” el o -l|a-;~(+ y-‘z’,
= PRI} %
(-1, 20 Ry "I

y-_@(fq

Y— Y|- ~C - X\)
\/-a- -6 (x )

-2 =~ -
Y'f?_ Gx-o;
oy = ex—Y
46y 16X
oy +y=-"
Cp:ru Bozs
JO A€ € ner3
ys o 5S¢ = 225206




Joy €576
/ /



	Page 1: Dec 12-10:31 AM
	Page 2: Dec 12-10:46 AM
	Page 3: Dec 12-11:06 AM
	Page 4: Dec 12-11:17 AM
	Page 5: Dec 12-12:21 PM
	Page 6: Dec 12-12:33 PM

